Efficiency vs P,

T
=
N

eficiency vs p

Ratio

efficiency vs n

Ratio

=

©
©

o
2}

[y

!

=
N

107 1 10 prT (Ge\})o3

| fake+duplicates vs p_
+0.02
o) s

) Q18f<-rvoif v S—

O] o . .
@016 o ereesifegeeenees e e
B.014F- oo 1o SRS S
© o .
D012 eerife e P PTRTRE SRRTCTLIRRRS
=] o : :

2 0.00F g oo e

.08+ e e oo
0,008 -+ it - veoo- S AR
0.004f : :
0.002f

T

0.8F--reneeni

Ratio

—=— DQM_original_step2__pt1to20_eta2pOto2p5
—e— DQM_mkFit_step2__ ptlto20_eta2pOto2p5

—— DQM_pixelCPETemplate_step2__ ptlto20_eta2pOto2p5

=

o
©

o
o))

©
»

o
[N

&

0.95

wrrrrrrrre
N

|L
Oferrentenaann
=

N

(oY)

TP n

Efficiency vs ¢

S

efficiency vs

1.2

—0.01
)
B.oog
®.008
1)
$.007
Q
‘B.006
>
gJ.oos
X
$.004
0.003
0.002
0.007]
1.0

Ratio

H
T
+

x

0.95

[ fake+duplicates vs o]
o0.02 - : " T T T
O IS O O Y O U SO
o~ R R H

-FI0T: OO SO MY T O ORI
0 - : : N : :
S SN ALt I SR
O o : : : : : :

B.012F
3 E:
£ 0.01E
~ -
.008E
0.006F
0.004F
0.002F
G + 111

Ratio

1.5p




	Contents
	Page 1


